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SECTION - 1
ENGLISH

Instructions for Q. 01 to Q. 03 :
Read the passage carefully and answer the following questions.

A dictionary is a must for a student. You can begin with simple, attractive
dictionaries and then learn to use the more difficult ones later. So, the next time
you come across a difficult word, don’t fret. Just look it up in a dictionary.

01. What is a must for a student?
(1) A diary (2) A muster
(3) A library (4) A dictionary

02. Find the opposite word for ‘Easy’.

(1) Weak (2) Just
(3) Difficult (4) Across
03. Fill in the blank with correct alternative.
One can begin with , dictionaries.
(1) simple , attractive (2) simple , difficult
(3) must , next (4) more , fret

04.  Match the correct instructions
from the given alternatives.

(1) 1-A, 2-B, 3-C
(2) 1-C, 2-A, 3-B
(3) 1-B, 2-A, 3-C
(4) 1-C, 2-B, 3-A

SPACE FOR ROUGH WORK
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0sS.

06.

07.

08.

09.

Fill in the blanks.

Joseph has a brand bicycle.
(1) knew (2) new
(3) now (4) no

Select the rhyming word for the correct action word from the given table.

dig | bib
tar fin

(1) far (2) rib

(3) fig (4) bin

Fill in the blank.

, no ! My mobile is ringing.
(1) Alas (2) Oh
(3) Brave (4) Ouch

Choose the correct ordinal number for ‘December’.
(1) Tweltth (2) Twelvfth
(3) Twelfth (4) Twelve

Find the shape of dice used in ‘Ludo’ game from the given alternatives.
(1) cuboid (2) cube
(3) sphere (4) cone

SPACE FOR ROUGH WORK

0802-Kannada Set-A 30f32 P.T.O.



10.

11.

12.

13.

Look at the chart and find the correct option.

Leg
I I | I |
Heel Knee Thigh ?
(1) Fist (2) Stomach
(3) Jaw (4) Toes

How will Salim greet Vandana on her birthday?
(1) Happy birthday! (2) Congratulations!
(3) Best of luck! (4) Rest in peace!

Solve the riddle.
I can help you to heat

and cook different types of food.

Who am [?
(1) Microwave (2) Blender
(3) Refrigerator (4) Chimney

Arrange the numbers to make meaningful word.

N I O|D|A|R| S | U
1 2 3 4 5 6 7 8

(1) 42153687 (2) 42137586
(3) 76853124 (4) 68753421

SPACE FOR ROUGH WORK
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14.

The
(1)
(2)
3)
4)

15.  Choose the proper punctuation mark in the end of the sentence.

clock shows the time
quarter to 5

three quarters past 4
two quarters past 5
45 minutes past 4

Choose the incorrect options.

‘That's an excellent idea [’

(n ? @) .,
3) 4 !
16.  Select the correct option.
We should cut our hair .
(1) hardly (2) regularly
(3) terribly (4) recently

Instructions for Q. 17 and Q. 18

L/%\\Fresh Fruits

HEALTH IS
WEALTH!

)Vegetables

/\.\_“/\\../FO From Daisy’s shop

P

» healthy » juicy ") tasty
}w'\ - \w . ] -
\;-n Fruits and Vegetables é‘x
59, Mint Street, r
g wh', Trichy

SPACE FOR ROUGH WORK
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17.

18.

19.

20.

21.

Fill in the blank with correct option.
This advertisement is based on
(1) fruits and meat (2) vegan and diary

(3) fruits and smoothie (4) vegetables and fruits

Select the motto for the advertisement.
(1) Health is Wealth (2) Truth is Gold
(3) Green and clean Earth (4) Never stop learning

Choose the correct alternative for the given sentence.
‘hooray! teacher, we want to play kho-kho’.
(1) Capital ‘H’ for hooray

(2) Capital ‘T’ for teacher

(3) Capital ‘W’ for we

(4) Capital ‘H’ for hooray and Capital ‘T’ for teacher

Choose the correct pair from the given alternatives.
(1) A flock of bees (2) A flock of geese
(3) A bundle of children (4) A swarm of dogs

Pick out the missing colour of a ‘rainbow.’

Red, Orange, Yellow, Green, Blue, and violet.
(1) Indigo (2) White
(3) Pink (4) Purple

SPACE FOR ROUGH WORK
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22.  Choose the correct contracted form of the underlined words in the given sentence. Baln

‘I am not interested.’ s
(1) aren't (2) ain't LAt

(3) am't (4) arent' LA

23.  Fill in the blank. g
‘France is European country.’
(1) an (2) the

3) a (4) no article

24. Observe the diagram carefully and find the

answer from the alternatives.

Fold the paper in the direction.
(1) South
(2) Upward

(3) South West

(4) Downward

25. Which of the following is a permission?
(1) You are welcome (2) T drink water

(3) Please come in (4) Don't make noise

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ| KLMNO|PQRST|UVWXY
SECTION - II
INTELLIGENCE TEST
26. Which of the following is the correct example of homophone?

27.

28.

29.

(1) Seek - sick (2) Ship - sheep (3) Two - to (4) Ate - at
Read the poem carefully. Find out how many more or less three letter words
than the 7 letter words are there in the poem.

‘Twinkle Twinkle little star,

how I wonder what you are?

up above the world so high,
like a diamond in the sky.

(1) More by 3 (2) Less by 3 (3) Less by 2 (4) More by 4

ABCDE FGHIJ KLMNO PQRST UVWXY

In the above given alphabet series which of the given pair of alphabets indicate
the difference % times the difference between letter ‘H’ and letter ‘R’.

() D-N 2 K-W (3) M- X 4) E-R

In the given number series the digits of every number are interchanged to form
a new series. What is the addition of the prime numbers in the new series?

13 , 9 , 17 , 53 , 37 , 76 , 19 , 41

(1) 180 2) 301 (3) 300 4) 181

Q. 30 to Q. 34 Direction:

Select the odd term.

30. (1) House (2) Planet (3) Cottage (4) Home
SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

en - 11
LD JToeF
() = =S

26. FSNTHNG FB 2.830 AYE Jw OIRFT?

(1) ©33 (2) e 3) A 4) JeodR
27. BN T, BTogoNY S-TT WITNONOZ QU-TT LFTAL STOOT ézf% T30
IRTID VR?
mRw W3R
QeI TIO3RD
23030 Jew)T

RBIB 330300
(1) 4 003 @y, (2) 3 om Wy, (3) 4 oom 3@ (4) 3 ©or @D

28. ABCDE FGHIJ KLMNO PQRST UVWXY

Fe07 wECRROINY, H' Iy R’ @§5ne 5@ adhs @ggns Foadnos
T T, wIon FWNSHNG Pp cIND PRI, BRBH?

() D-N 2 K-W (3) M- X 4) E-R

29. 3INT RoaRBRIZONYCH B3oIeomd F0F oY osnY m@ﬁﬁ@dg{ L3I0
VB B[RE FOIRORT BoLGNY Fd [Rw TNy Ie0ed R, WINRTO?

13,95 , 17 , 53 , 37 , 76 , 19 , 4l
(1) 180 ) 301 (3) 300 4) 181

B3 30 00z 34 T TN AU
rooen ROBROTE BRI, MOTIRD.

30. (1) oo 2) 0z (3) o 4 e

FeSO T2 FOTTN
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31.

32.

33.

34.

3s.

36.

(1) 54 2) 78 3) 66 4) 36
(1) 192 2) 312 (3) 732 4) 726
—
—
(1) (2) 3) (4)
]

[
(1) @) 3) (4)

Rahim’s todays age is twice of Ram’s todays age and % times John’s todays
age. If three years ago Ram’s age was 9 years then what is the sum of todays
age of all three of them?

(1) 60 (2) 51 (3) 54 (4) 58
In a certain code language if Tiger is called as Lion, Lion is called as Shekaru,

Shekaru 1s called as Deer, Deer is called as Elephant then who of the following
is called as Maharashtra’s state animal?

(1) Tiger (2) Lion (3) Shekaru (4) Deer

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

31.

32.

33.

34.

35.

36.

(1) 54 2) 78 (3) 66 4) 36

(1) 192 (2) 312 (3) 732 4) 726

(1) 2 3) (4)

[ ]
(1) @) 3) (4)

SN Q00T BOPRY, TR B0NT [ODAT HTRITed), AT, PIT QOO
DRE T e, 9. BRT DR IREAT FRBOT FoHR, 9 IRFAD

ART & BRHT 00T [ORNG 3e0ed HR), BRE QTTIO?
(1) 60 (2) 51 (3) 54 (4) 58

DOR 20D @gbcgda, %o&éﬁ e3P @Q{dd}, 9dR 2203 @Qdda, 0B =3

DT/, TIMPTET OTITIHE T TS 0T OINYTTE, 2Fe3e80?
(1) O (2) 203 (3) @O 4) 203

FeSO T2 FOTTN
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37. In the adjacent figure how many triangles
are there?

(1) 12
2) 11
3) 8
4 9

Q. 38 to Q. 40 Direction:

Identify the sequence in the given terms / figures and select the correct alternative
to replace the question mark.

38. 841, 7?7, 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 4) 529
39. 91, 82, 74, 67, ? , 55, 50, 45
(1) 61 (2) 58 (3) 62 4) 57
40. Question Figures:
o
= L] <l
o e
Answer Figures:
T o e T OT o
(1) ) 3) 4)

SPACE FOR ROUGH WORK
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37.  3INT $FE0PY ), SR, BRETNVH?

1) 12

2) 11

3 3

@ 9

B3 38 00 40 T IO AL
IINT TTING BT, NeOTTYF0owd TIWTOD FFTY, wIdT TTIIY,
TOIRE NPT SORO.

38. 841, 7, 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 (4) 529
39. 91, 82, 74, 67, 7, 55, 50, 45

(1) 61 (2) 58 (3) 62 (4) 57
40. I3 7N :

D
D -«
QVIT STSNLD -
(1) (2 3) 4)

FeSO T2 FOTTN
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

Q. 41 and Q. 42 Direction:

41.

42.

43.

44.

Find out the mirror image of each of the following question figure from the
alternatives given.

Question Figure: Answer Figures:
@ [ o
o o
(1) 2) (3) 4)
Question Figure: Answer Figures:
1) ) (3) (4)

If your friend misbehaves in front of everyone then what will you do?
(1) T will beat him there itself.

(2) T will breakup the friendship.

(3) I will dishonour him amongst friends.

(4) T will explain him properly about why he should not misbehave.

The school gives you the responsibility of the section, where you have never
worked then what will you do?

(1) I will insist to get the work changed.

(2) I will try to understand the method of that work and try to do it efficiently.
(3) If my work is not changed then I will misinterpret their behaviour.

(4) T will accept the responsibility without understanding the work.

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

B3 41 e 42 T ZoTeN B!

41.

42.

43.

44.

3INT BIRg oD BIRADYODH T8 WOIRFOD YUBT BTENoT SORD.

ITgS : QUZT SFIND !
® ®
(D ) ) 4)
TS UUBT STINLD !
(D () 3) (4)

Q) RYODZ DQT HTOR VFNT TS BRRTZ; TIWET A O
TRTINO?

(1) @9ode &EIR BRTWCINNO.

(2) ODIROANT NPT T0DCIVND.

(3) WZTE NI TR FEOWOZ WIRBORO.

(4) 7RIS SREIE 20T @RI TOIRN &9 TeFoDd.

TSB03N VR A0TR FOT BRITT RN umw%()o:bmq QY e LR,
TOMRRT ) DTD BRBIND?

(1) 303 WINR BB SAT BRTEOD.

(2) FOAT TTRT SPTEROBY & FORBTY, FOCIRN BREWES BODT, [WREBI.
(3) Fom WO IRBEPe VTRTOT FTO TWDD AT

(4) 30T TORT 9T BRYDe WO ALBORO[ID.

FeSO T2 FOTTN
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45.

46.

47.

In a row Sameer is at twenty third position from front and nineteenth position
from back. What is the position of Raj from back, who is standing at 5™ place
behind the middle position boy?

(1) 1eth (2) 28t (3) 13th (4) 27t

In the given path while walking from ‘A’ to ‘B’ - C
how many times will you face the north direction?

(1 2 B

2) 3

3) 5

4) 6 <A

North «—}——

Some birds are sitting on tree ‘A’ and some birds are sitting on tree ‘B’. If
one bird from tree ‘A’ went on tree ‘B’ then the number of birds on tree ‘B’
will be twice the number of birds on tree ‘A’ and if one bird from tree ‘A’
will go on tree ‘B’ then the number of birds on both the trees will be equal.
Now initially how many birds were sitting on tree ‘A’ and ‘B’ respectively.

(1) 3,5 Q) 7,5 (3) 5,7 @) 5,3

Q. 48 to Q. 52 Direction:

48.

In the following questions, first pair has some relationship between first two
terms. The same relation holds true for the second pair. Identify the relation
and select the correct alternative to replace the question mark.

Cool : hot :: strong : ?

(1) brave (2) thin (3) week (4) weak

SPACE FOR ROUGH WORK

0802-Kannada Set-A 16 of 32 Contd...



ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

45.

46.

47.

2,080 FOTY BT T,T0LPROT TR TI0H Tone BR[0T TEROWSSCD
BRROT AT FTEY, BT BORNS 80T 55¢ FRNOFTYTOR To%E FRAFOW0T
FFe WT ATFE?

(1) 163¢ (2) 283¢ (3) 133¢ 4) 273

WO0H BINNFS Fedoms ‘A’ Fg00s3 ‘B’ - C
398 Bowomen 9%, B0 g3 FIER BweD
WIVR)T?

(1) 2
2) 3

[ Yoy}

B) 3

4 6 -A
g3 <—f——

A NES Boed oy TR TR BT NES S0 $oi) DR 30930800aE.

2000ed A’ NET BoedT o Ty B’ NED Boed0T TINYGY, deRERE3

‘B’ AGTE 200930 ﬁ%ﬁ%ﬁo Q0B msaw BM8S 9gme B NGRS 3003 2000

D3 A AET @¢ Beedd adRe NENY HO8 VY IRREwRZS;
RES #enon AT Rd B NGES e eRgmmn om, SRenR?

(1) 3,5 2 7, 5 3) 5, 7 4 5, 3

B3 48 00m 52 T ToTON AU

48.

RRTOTOD VDT VBRI DRTRRODT TEM F0WOH NTO3RE LITSe DeS0dd FOWOR
TRTIOD TET FYIF TRBROT ATs; VBT, NBITTYLIERTO T[T
AYRY, WIS BERWR), TOIRF NPT SO,

3% : A 1 dBO : 9

(1) oosg (2) BT (3) PR @) oo

FeSO T2 FOTTN
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49. Shyamchi Aai : Sane Guruji :: Wings of fire : ?

(1) Jayant Naralikar (2) Dr. APJ. Abdul Kalam
(3) Pranav Mukherji (4) Dr. Homi Bhabha

50. 37 : 40 = 25 : 7

(1) 19 2) 27 3) 21 4) 30
51. 14 : 15 :: 32 :7
(1) 35 2) 42 (3) 31 4) 18

52. Question Figures:

a0 |G
A | %Sy @@: !

Answer Figures:

vl ] S|P
O || &) losd || B

() 2) (3) @)

53.  John, who is born on 5™ January 2001 Friday, is 100 days elder to Shanaya
then on which day was Shanaya’s first birthday?

(1) Thursday (2) Tuesday (3) Wednesday (4) Monday

SPACE FOR ROUGH WORK
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49.

50.

51.

52.

53.

AOWRT BRI JeIew 1 TOFRE ¢ 7

(1) WP NOMPPET 353 (2) BT

(3) Roome3on, Yres (4) 0 B0

37 : 40 = 25 . 9

(1) 19 2) 27 (3) 21 4) 30
14 : 15 = 32 : 92

(1) 35 2) 42 (3) 31 4) 18

TTTEAND :
o)

v [A 3
O %41 Vol ?

QBT BTSN ¢

vl < S|P
O | ol o ]| B

)

5 %JBO 20013 0BT AT T TTCIRN0T 100 DBINCOT BRTITONTI,
TOMOTT BTOIRT BRTUROD BOWIFTY, 03 298 LoRTLTITO?

(1) nOToeT (2) @onFweT  (3)  WIFP=T (4) Ao

FeSO T2 FOTTN
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54.

5S.

Select the number to replace the question mark in the given grid.

751 7 |25

18 33|63
?7 15212

(1) 46 2) 42 (3) 35 (4) 48

In a certain code language if 25 = 532, 57 = 725 and 34 = 413 then how
will you write 14 in the same code language?

(1) 314 (2) 451 (3) 431 4) 514

Q. 56 and Q. 57 Direction:

56.

57.

Identify the figure which exactly matches with the question figure from the
four alternatives given below.

Question Figure: Answer Figures:
D ) 3) 4
Question Figure: Answer Figures:

(D ) 3) )

SPACE FOR ROUGH WORK
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K
54, 39N3 WPERTY, TR RO, In® T, WERT?

Py ®

751 7 | 25

18|33 |63

?2 152112
(1) 46 (2) 42 (3) 35 (4) 48

55. 2,003 A0FeEB RO 25 = 532, 57 = 725 W03 34 = 413 ert w030,

DMWY wTle ToFeds PRODY, 14 35 Fo30d) Tert WIoKN0?
(1) 314 (2) 451 (3) 431 (4) 514

B3 56 Tone 57 T ZwoTeN B!
NS TBIRFER ROTREIFION TROTWD SFICIWRY TOIRFONPOT SORD.

56. =zge: UUZT SFINLL:
(1) (2) 3) (4)
57. =zge: UUZT $FSNAO:

(M ) 3) )

FeSO T2 FOTTN
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58. In the given Venn diagram numbers indicate the students in the school who
like the activities like Dance, Drama and Music. How many students like at
least two activities?

< Dance

TR

<—— Drama

(1) 359 (2) 33 (3) 46 4) 20
Q. 59 to Q. 63 Direction:

In each of the following questions three terms are given with some common
relation. So their group is formed. Select the correct term from the alternatives
given which has the same common feature of the given group.

59. Storm, Tsunami, Flood

(1) Rain (2) Accident (3) Famine (4) Ocean
60. Potter, Carpenter, Doctor

(1) Wood (2) Medicine (3) Study (4) Tailor
61. 9 31)S5,7{7) 4,8 (13)3

(1) 8 (26) 5 2) 7@23)5 3) 717 3 4) 6 (20) 2

SPACE FOR ROUGH WORK
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58.

WO SFIDY, 2,030 TS Y, Tory FoB WTT B FPIY, e Ear
[ATHT B0 DR, BOFAHNG. VWS BoedoB TIF, 0B FBTY, ITes faak,
QBIWRT ﬁo@% eDK%‘? L'JL'

TS ——————>

(1) 59 2) 33 (3) 46 4) 20

T3 59 00T 63 T FOOwoN ARER:

59.

60.

61.

3INS BINIYoDL Bt TANE 2.0 DT, FOF  NTROTTemoN 2,080 10T
BOIRTIMITT. & FIF, T NHOIBYLIFROB MO0 TLOWIT TWR,
TOIIRE NPT 0RO,

WY, BTN, WOTOTRT

(1) =% (2) wTFS (3) wWoM® (4) FoToANT

TO0W, IR, @d}@

(1) =3 2) ™D 3) BeRDH 4) R
9(31)5, 7(17)4 , 8(13)3
(1) 8(26)5 (2) 7(3)5 (3) 7(17)3 4) 6(20)2

FeSO T2 FOTTN
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62.

63.

64.

6S.

18 27 36
42 > 63 ° 84
O @ 2y 3) 2% @ 55

Question Figures:

AN ) [HD || 2

Answer Figures:

) KJ Y’/

(1) ) 3) 4

In a certain code language if [3, 4] [%] = 26, [I, 3] [%] = 23 and

[2, 5] [2]247 then in the same code language how will you write [2, 7] [%]‘?
(1) 52 2) 20 3) 42 4) 62

Statement A : Sourabh is 17 years old and he is three years younger than Seema.
Statement B : Sharayu is younger than Sharad, her age is 21 years.

Select the correct conclusion of statement A and B from the given alternatives.
(1) Sharayu is younger than Sourabh by 4 years.

(2) Sharad is younger than Seema.

(3) Seema is 14 years old.

(4) Sourabh is youngest in all of them.
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62. 18 27 36

42 0 63 ° 84
M % @ Ty 3 20 @ oy
63. ZTFn:
VBT $FSNAO:
S& S
(1) (2) 3) 4)
64. o0z mogess e [3, 4] [2] = 26, [1, 31 [3] = 23 3 12, 5] [§]-47
&eT} WBOTNTD; TS e9Te T0ogeds IR [2, 7] [%] f&dﬁg{ Tert 2wBoI0N0?
(1) 52 ) 20 (3) 42 4) 62
65. Q73T : () WRTY 17 SRETITINTY, AEBRYNOT [ORTO JIRFNYOT
WBBINTS.

(w) 3Bcdn FTWINCET WEHPNTY, e3¢ [ORY, 21 JRFTL BT
[T Boedor FINTHYNG o CIRE FOTRT WROBRT BRTBIBWRD DOWITT,
TOIRFODNTY, AZEWRD.
(1) 3T APTPINOZ T, BRF WIBENTS.
(2) 3TT AEBPONOE WBBINTIVS.
(3) RemRY WO, 14 JIREAD T,
(4) B[ODATY, DOFR WERTY APTPINTRS.
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66.

67.

68.

69.

In a certain code language if COW = 274, CAT = 684 and WET = 825 then
in the same code language how will you write GOAT? [The order of letters
and numbers may not be one to one.]

(1) 4768 2) 7186 (3) 8765 4) 1785

In the following question select the correct alternative to replace the question mark.

A 2 2

1 5 2 4 (3) 3

Observe the table of alphabets and signs and
find the word opposite to ‘Good’.

A B C D E F G

A O & + [ || \
(1) OA+ 2) ® A+
3 e L[]+ 4 Oe®
How many quadrilaterals are there in the given
figure.
(1) 60
(2) 30

(3) 33 //\\
o 5 AR
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66.

67.

68.

69.

2,003 A00gedE oo COW = 274, CAT = 684 =033 WET = 825 &en
2B030053T); BT @Tle Fogeds RA0DNY, GOAT 83 Zu Iert w3002
(RRed: 2TONY 3By Wodng 30 ARRT AWRTOTD BeYRMOPOY)

(1) 4768 (2) 7186 (3) 8765 4) 1785

$9N3 BIoDY, T3, WD I, CIRT Foss, WAHT?

Y

(1 3 2 4 3) 3 “4) 1

3 3 3 3 3 2 o} =D |9-%0 @mmg 2-F20

+ - o A O v [ ] = * @ X

RoedT BBoDYCD @FTNY, WRNY wvHodeen BRR VYT B3 FB DTTREFT
Be) Tert BCIR0?

(1) + # @ @ x 2) + x e A

3 AO[ = 4 A +x0%

2D 53B0NY PNy ooy HF), AB?
(1) 60
2) 30

G) % AR
@ % AR
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70.

71.

72.

73.

Observe the given figure. When figure is folded on lines then which of the
following cube is not formed?

R R I A I B N

(1) 2 3) )

In the given series, select the correct alternative to replace the question mark.

NOOS, OO/, X ONAD, ?

VARSI @ N
® (/AN @ O/

Identify the pattern of numbers in the series and select the wrong term.
3,1,6,7,10,26, 15,63, 21

1) 1 Q) 7 3) 15 @) 21

Varsha was facing the setting sun, she turned at 135° twice to her right side
and went straight in her house then in which direction is the door facing?

(1) South (2) South-East (3) North (4) North-East
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70.

71.

72.

73.

200D GBICH SRNPY, RoaE e FF TOROITS FWNIRNY [ IR
DT FARTROBOL?

1 1 1 3

2 3 2 2

(1) 2) &) (4)
$9NS ERY RROBeDhE, BB, wTioh PR, W foP Fetprabreos EoRo.

INOOS , OO/, X ONAD, ?
m NOOD @ NOOO
® (/AN OO CHAYANS

BINT RBoaTy, BROFYEI T NTT) DIF FTOO0T TIORILING. & FT|IWR),
N, SREOER0E WRYNTYOD ST TWenI, MITISRD.

3,1,6,7,10, 2 , 15, 63 , 21
1) 1 2) 7 3) 15 4) 21

R0PMOETR BROFAN FRoMT BREYTT w135 ©o3NGY, 8@ I
LOWHR STON BT FeTeeN RFONQ, BE[SITH; TGS OF0D BE5eBwT
CRE QIR QTIFTIO?

(1) o8 (2) e (3) v (4) 525
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Q. 74 and Q. 75 Direction:

In each question a problem figure is held vertical above water surface. Identify
its water reflection and select the correct alternative.

74.  Question Figure: Answer Figures:

(D ) 3) 4
75.  Question Figure: Answer Figures:

) 2) 3) 4)
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L
galn
Far
ABCDE|F GHTIJ| KLMNO|PQRST|UVWXY %;g’lﬁ'
£
B3 74 Tenn 75 T Jeowmen Reuss: faak,
AR
$9NS FogAcH DEOSANDH TeWow HIRFOD wUIT PN S0 e
: - i
£
4. Iy SRCCRELEN e
CAE
oty
L
oty
LHL
AT,
i J l k i
(D ) 3) 4
5. 3w 0ZT FBR:
(D (2) 3) (4)
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